CHAPTER 4: Multiplication and Division

ADD TO TEST BANK:   VOCABULARY

	A.   Factor
	B.  Perimeter
	C.   Area
	D.  Algorithm

	E.  Divisor
	F.  Quotient
	G.  Dividend
	H.  Distributive Property 

      of Multiplication

	I.  Area Model
	J.  Commutative Property of

     Multiplication
	K.  Division
	L.  Dimension

	M.  Remainder
	
	
	


_______ 1.   The distance around a figure.  B
_______ 2.   A set of instructions used to solve a problem or obtain a desired result.  D
_______ 3.  A quantity to be divided by the divisor.  G
_______ 4.  A measure in one direction; the length, width, or height of a figure.  L
_______ 5.  Reversing the order of the factors will not affect the final product.  J
_______ 6.  Splitting into equal parts or groups.  It is the result of “fair sharing”.  K
_______ 7.  The quantity by which another quantity, the dividend, is to be divided.  E
_______ 8.  When 2(3+5) = 2*3+2*5.  H
_______ 9.  The number of units, 1 x 1 squares, that it takes to cover the figure with no

        overlaps or no gaps.   C
_______ 10.  The number left over when one integer is divided by another.  M
_______ 11.  A quantity multiplied to get a product; the divisor and the quotient in a division problem.




A
_______ 12.  The end result in a division problem.  F
_______ 13.  A mathematical model based on the area of a rectangle used to represent fractional parts of a whole.  I
4.14.  Which equation represents the linear model?
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A.  -12´4=-3          B.   -4´3=-12          C.  -4´-3=-12          D.   -3´4=12


    



B
4.15. Which expression represents the model.
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4.16. Which of the expressions does the area model represent?

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	


A.   32 ÷ 7 

B.   5×6+2

C.  32÷5 

D.   5×5+7

       B
17-18.  Write an equation and find the value for x.
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4.17.  Equation: ________3x + 2 = 14_________               4.18.  x = _____ x = 4
Simplify the following expressions.
4.19.  5(a + 4)



4.20.  9x – 4x                 
    4.21.  2(y – 6)
______5a+20________

_____5x_________
       ______2y – 12 _________

Compute the following.
4.22.)  -404 ÷ 4 =  -101
    4.23.)   
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Solve and check the following equations.
4.25.     9x   =   - 63

         4.26.    3  +  5x   =  28 
                 4.27.  25x  –  7 = 68
                x = -7                                                      x = 5                                           x = 3
4.28.  The perimeter of a rectangle is 30 cm. and the length is twice the width. What are the
       dimensions of the rectangle?

30 = 2L + 2W = 2(2W) + 2W = 6W


So, 30 = 6W





W = 5cm, L = 10 cm
4.29.  The perimeter of a rectangle is 24 cm and its area is 32 cm2.  What are the dimensions 
   of this rectangle?





8 cm by 4 cm
In problems 30 & 31, use the Four Step method to solve.  SHOW ALL WORK.

4.30.  The temperature is 20ºF.  It is expected to rise at a rate of 4º each hour for the next several hours.  

       In how many hours will it be 32º?    
Define the variable: 
________h = number of hours__________________________________

Write an equation:   
__________20+4h = 32________________________________

Solve:

4h=32-20




Check:  20+4(3) = 32


4h=12







32 = 32


h=3 hours
4.31.  Ray has saved $74 toward a new sound system that costs $149.  He plans on saving and 

       additional $15 each week.  How many weeks will it take Ray to save enough money to 

       buy the sound system? 

Define the variable: 
____________w = number of weeks____________

Write an equation:   
______________74+15w = 149_______________

Solve:

15w = 149-74



Check:
74+15(5) = 149



15w = 75





     74+75  = 149



w = 5 weeks






149 = 149
4.32. Amanda is training for a marathon. She runs 4 miles a day, 3 times a week. How many miles will Amanda run in 2 weeks?

a.  9


b.  14


c.  24


d.  30

4.33.
Jan has won a certain number of prizes at the fair. Her sister has won 3 more prizes than Jan and their dad has won four times as many prizes as Jan.  How many prizes has their dad won if Jan has won 7 prizes?

a.  10


b.  21


c.  24


d.  28
4.34.
Simplify the following expressions:

a) -3(14) – 17

-59
b) 3x – 4x + 2            -x + 2
c) -4x - x + 9x
4x
d) 2(x – 7)

2x ​– 14
e) -3(x + 2)

-3x – 6
4.35.
Dan and Henry are collecting coins. Dan has collected twice as many coins as Henry. If they have a total of 39 coins between the two of them, how many coins has Dan collected?

a.  9


b.  13


c.  26


d.  30

4.36.
Could be used as a challenge problem: The perimeter of a rectangle is 56 cm. and the length is three times the width. What are the dimensions of the rectangle?


56 = 2(L+w)  and L=3w,    so 56 = 2(3w+w) = 2(4w) = 8w,    then 56 = 8w and w=7
4.37.
Compute the following:
a) 156 ÷ 12
13


b) -217 ÷ -7     31
4.38.
Millie wants to fertilize her yard that is 14 feet long and 19 feet wide. If a bag of fertilizer covers 38 square feet, how many bags of fertilizer must she buy?

a.  5 bags

b.  6 bags

c.  7 bags
       d.  8 bags
4.39. Amy has made cookies for herself and her 5 friends to share. If she knows there are 
      enough cookies so that everyone can have 5 cookies and 4 cookies will be left over, how     

      many cookies did she make?

a.  34


b.  24


c. 29


d.  36

4.40.
An elephant’s heart beats an average of 1,680 times in 1 hour. How many times does an elephant’s heart beat in 1 minute?

a. 70


b.  28


c.  30


d. 60

4.41. Solve the following equations:

a) 4x – 12 = 36

x = 12
b) 7(x – 5) = -21

x = 2
c) -9 = 1 + 4x + x
x = -2
d) -3(x ​– 2) = 15 

x = -3
4.42.
Charlie has invited 22 friends to his birthday party. He wants to buy party favors for them. The favors come in packages of 3. Charlie determines that he needs to buy 8 packages of favors and will have 2 favors left. Which equation(s) show that Charlie is correct?

a.  8 x 3 = 24; 24 – 22 = 2


c.  22 – 2 = 20; 20 ÷ 3 = 8
b. 22 – 8 = 14; 14 ÷7 = 2


d. 22 – 8 = 14; 14 ÷ 2 = 7
4.43.
Marcus has a certain number of model airplanes on his desk. His friend Cal has three times as many airplanes as Marcus. If the total number of airplanes between the two of them is 48, which of the following equations would represent the total number of airplanes the boys have.

a.  48 – x = 3 + x
b.  48x = 3
c.  48 = x + 3x

d.  48 + x = 3

4.44.   Josie was studying the effects of doubling the dimensions of 5 rectangles.  The table below shows these effects.

	Area of Rectangles

	Original Area (square centimeters)
	New Area

(square centimeters)

	4
	16

	16
	48

	48
	192

	192
	768

	768
	3072


F   Doubling the dimensions of any rectangle increases its area by a factor of 12.

G  Doubling the dimensions of any rectangle increases its area by a factor of 2.

H  Doubling the dimensions of any rectangle increases its area by a factor of 4.

J   Doubling the dimensions of any rectangle increases its area by a factor of 8.

Answer: H
4.45. Jacob was studying the effects of tripling the dimensions of 4 rectangles.  The 

        table below shows these effects.

	Area of Rectangles

	Original Area (square centimeters)
	New Area

(square centimeters)

	6
	54

	12
	108

	128
	1152

	254
	2,286


F   Tripling the dimensions of any rectangle increases its area by a factor of 12.

G   Tripling the dimensions of any rectangle increases its area by a factor of 3.

H  Tripling the dimensions of any rectangle increases its area by a factor of 6.

J   Tripling the dimensions of any rectangle increases its area by a factor of 9.
Answer: J
4.46. Mr. Garcia was trying to find a tablecloth for his rectangular dining table.  He 

       knew the area and perimeter of the tabletop:

Area = 48 square feet  and  Perimeter = 28 feet

       Which best represents the width and length of the tabletop?
        A   Width = 2 ft

B   Width = 6 ft
C   Width = 3 ft
D   Width = 4 ft
  Length = 24 ft   
      Length = 8 ft            Length = 16 ft                Length = 12 ft

Answer: B
4.47. In a factory, one machine makes MP3 players at a rate of 125 MP3 players per 

          hour, and another machine makes the same MP3 players at a rate of 140 

          MP3 players per hour.  Which of the following equations can be used to find t, the 

          total number of MP3 players both machines will make in 8 hours?


 

A .   t = (125 + 140) ÷ 8      

B.   t = 125(8) – 140(8)    


 
C.   t = (125 + 140)8     

D.   t =  125(8) + 140


Answer: C
4.48. Carlos has invited 21 friends to his birthday party.  He wants to buy party 

           favors, which come in packages of 4.  Carlos determines that he needs to buy 6 

           packages of favors and will have 3 favors left.  Which equations show that              

           Carlos is correct?


A.   4 × 6 = 24; 24 – 21 = 3


B.   21 – 3 = 18; 18 ÷ 6 = 3

C.   18 ÷ 3 = 6; 6 – 3 =3

   D.   18 ÷ 2 = 9; 9 ÷ 3 = 3                   Answer: A
4.49. A box contains 12 candy bars of equal weight.  The weight of the empty box is 

                      8 ounces, and the total weight of the box and the candy bars is 104 ounces.  

                      Which method can be used to find the weight in ounces of each candy bar?
F   Subtract 8 from 104 and then multiply the difference by 12

G   Subtract 8 from 104 and then divide the difference by 12
H   Subtract 12 from 104 then multiply the difference by 8

 J   Subtract 12 from 104 and then divide the difference by 8

  
Answer: G
4.50. The model below represents the equation 4x + 2 = 2x + 4.

What is the value of x?

A.  x = 2 

B     x = 6

C    x = 1  

D     x = 5

Answer: C
4.51. The equation 3x + 3 = x + 15 is modeled below.

     What value of x makes the equation true?
A.   x = 6 

B.    x = 5 

C.    x = 4 

D     x = 3

Answer: A
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